Name: _____________________________________

              Date: ____________

Inequality Word Problems & Solving        NYS Regents Exam Questions from 2007 – Aug 2014
At least - ______________________________________________________________________
At most - _____________________________________________________________________

No more than - _________________________________________________________________

_____1.  Jason’s part-time job pays him $155 a week.  If he has already saved $375, what is the  

               minimum number of weeks he needs to work in order to have enough money to buy a 
               dirt bike for $900?

(1)  8


(2)  9


(3)  3


(4)  4
_____2.  The length of a rectangle is 15 and its width is w.  The perimeter of the rectangle is, at 
                most, 50.  Which inequality can be used to find the longest possible width?
(1)    30 + 2w < 50



(3)   30 + 2w  > 50

(2)    30 + 2w < 50



(4)   30 + 2w  > 50
_____3.  Carol plans to sell twice as many magazine subscriptions as Jennifer.  If Carol and 
               Jennifer need to sell at least 90 subscriptions in all, which inequality could be used to 
               determine how many subscriptions, x, Jennifer needs to sell?






(1)   x > 45



(3)  2x – x > 90






(2)  2x  > 90



(4)  2x + x > 90

_____4.  Jeremy is hosting a Halloween party for 80 children.  He will give each child at least one candy  

               bar.  If each bag of candy contains 18 candy bars, which inequality can be used to determine 
               how many bags, c, Jeremy will need to buy?




(1)   18c > 80


(3)   [image: image2.png]




(2)  18c  < 80


(4)   [image: image4.png]



_____5. If Rosa's age is represented by R, which inequality represents the statement "Rosa is at 

              most 29 years old"?

(1)   R < 29

(2)   R > 29

 (3)   R < 29
               (4)   R > 29
Solving Inequalities


_____1 .  Which value of x is in the solution set of   -3x + 8 > 14  ? 
(1)  - 3


(2)  - 1


(3)  0


(4)  3


_____2.  What is the solution of  4x – 30 > -3x + 12  ?





(1)  x > 6

(2)  x < 6 

(3)  x > - 6

(4)  x < - 6 

3.   Solve the inequality     -5(x – 7) < 15    algebraically for x.
